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PAPER A

most common acute complication of a PEG:-

a) colonic perforation

b) gastric perforation

c) wound infection

d) bleeding at insertion site

e) peritonitis

which cell type relies mostly on the release of chemicals to extracellular fluid to eliminate foreign organisms:-

a) neutrophil

b) eosinophil

c) macrophage

d) lymphocyte

e) natural killer cell

a) an elderly female with bony mets from breast cancer has pain well con                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                xplains her symptoms?

a) fluoxetine therapy

b) underreplacement of thyroid hormone

c) increased oestrogen

d) increased cortisol

e) growth hormone deficiency

Comparing two survival curves,treatment,treatment A or curve A has y axis (no.of surviving patients) x axis (time in months):-

a) better median survival,better long term survival

b) worse median survival,worse long term survival

c) worse median survival,better long term survival

d) better median survival,worse long term survival

e) worse median survival,same long term survival

A trial to assess the safety and efficacy of a new unmarketed antihypertensive drug was compared  to an established drug of the same class.Randomised  parallel groups over 3 months with 1000 people in each arm,over 50 trial centre locations.The best description of the trial :-

a) pre clinical efficiency study

b) clinical phase I trial

c) clinical phase II trial

d) clinical phase III trial

e) clinical phase IV trial

In ankylosing spondylitis,syndesmophytes are likely to be first seen in which part of the spine :-

a) cervical

b) cervico-thoracic

c) thoracic

d) thoracolumbar

e) lumbar

Which is the most potent inhibitor of aldosterone secretion in a healthy individual? 

a) raised serum potassium

b) raised serum angiotensin II

c) raised serum atrial natiuretic peptide

d) raised serum ACTH

e) dietary salt restriction

A patient presents with a severe exacerbation of asthma  pCO2  31 , pO2  54 ,        pH 7.47.When she is given IV B aginist she become more hypoxic.The reason?:-

a) reduced systemic arterial resistance

b) pulmonary arterial dilation in areas of low V/Q

c) increased cardiac output

d) bronchodilation in areas of low V/Q

e) increased skeletal muscle oxygen consumption

Which is the most sensitive test to detect gall bladder stones

a) ultrasound

b) MRI

c) CT

d) plain Xray

e) hepatic immunodiacetic (HIDA) scan

Which condition has the greatest association with H pylori?

a) gastric adenocarcinoma

b) MALT lymphoma

c) non ulcer dyspepsia

d) pernicious anaemia

e) ?

Which structure has the greatest expression of COX-2? 

a) platelets

b) gastric mucosa

c) rhematoid synovium

d) articular surfaces in osteoarthritis

e) ?

Which is the least  important role of the Langerhan’s cell in the afferent limb of the immune response?

a) activation of the LC due to microbial polysaccharide

b) migration of the LC to the lymph node

c) up regualtion of the MHC class I

d) up regulation of the MHC class II

e) up regulation of the  MHC co stimulatory molecules

A patient on molecular analysis is found to have uniparental disomy.On analysis of the parents’ gametes the inheritance from mother and father was found to be ?

               Maternal                      Paternal

a)

0


2

b)                     1                                  1

c)                      2                                  2

d)                     2                                  0

e)                     1                                  0

A 26 year old female presents complaining of tiredness and dark urine.She has no past medical history and her only current medication is the OCP.Examination is normal except for mild icterus.FBC =  Hb  76 , WCC 5.4 , Plt  164 , reticulocytes high.The most appropriate next step is ?

a) G6 PD

b) DAT

c) urinary haemosiderin

d) Haptoglobins

e) spherocytes

Pathology most likely seen in a kidney secondary to aminoglycoside toxicity?

a) proximal renal tubular cell necrosis

b) increase in mesangial matrix

c) accumulation of mucopolyscaccharides in the distal tubules

d) focal necrotic lesions in the distal tubule

e) granular pigmented cells in the collecting tubule

A 78 year old woman is admitted to hospital following a CVA.Which of the following clinical features would indicate the greatest risk of aspiration?

a) dense hemiparesis

b) bilateral absent gag

c) facial droop with drooling

d) aphasia

e) moist speech with a weak cough

a 67 year old woman with a history of polymyalgia rheumatica,on treatment with 7.5 mg prednisolone daily,presents with shoulder girdle pain and  lethargy.Blood taken show  :

Hb 108

wcc 12.8 differential neutro 10.1,lympho 0.6,mono 0.4,eosino 0.2

plt 478  ESR  45

film:-microcytic normocytosis,decreased lymphocytes and mild increase in neutophils with increased eosinophils and increased monocytes.

What is the most likely cause of her anaemia?

a) chronic inflammation

b) B thal trait

c) iron deficiency

d) heamolysis

e) steroid use

The success of bee venom immunotherapy can be explained bext by :-

a) decreased Th 2 cell activity and cytokine production

b) increased Th2 cell activity and cytokine production

c) incraesed IL 10 production

d) deletion of allergen specific B cell clones

e) production of IgG class blocking antibodies

Vancomycin resistance in enterococci is mediated by :-

a) inhibition of cell wall binding of vancomycin

b) changes in penicillin binding protein expression

c) increase in beta-lactamase production

d) inhibition of ribosomal binding by vancomycin

e) increase in vancomycin breakdown

The main purpose of informed consent in clinical trials is:-

a) to avoid maleficence

b) to provide benificence

c) to maintain autonomy

d) justice

e) to reduce risks

A 27 year old Aboriginal man presents with normal BSL,normal BP and a urine dipstick showing 1+ protein (the test is 80 percent sensitive and 85 percent specific).There is a 30 percent incidence of renal disease in the community from which he comes.What is the next best test?

a) albumin/creatinine ratio

b) 24 hour urine cllection

c) repeat early morning urinalysis

d) urine microscopy

e) renal biopsy

The leucodepletion of transfused blood with a filter leads to a reduction of which side effects of transfusion  ?

a) HCV  transmission

b) CMV transmission

c) malaria

d) anaphylaxis

e) citrate toxiity

A 60 year old male with a  2 year history of mild angina has been stable on treatment with imdur 60 mg daily,aspirin 150 mg daily,atenolol 50 mg daily.In the past six months he has required 2 anginine for his infreaquent angina.He now presents with 30minutes of angina not relieved with anginine but relieved with oxygen.The likely cause of his non response to anginine:-

a) new onset unstable angina

b) decreased potency of the drug

c) nitrate tolerance

d) dry tongue

A 56 year old gentleman presents with haematemesis and malaena.He’s never received a blood transfusion before.Hb on admission is 64.he underwent blood transfusion and into the 3rd unit of packed cells(5-10 mins in) developed fevers,hypotension and became unwell.

the likely cause is :-

a) graft versus host disease

b) bacterial contamination

c) citrate toxicity

d) reaction to ?plasticiser

PAPER B

A patient with known chronic renal impairment (creat 190) presents with hypertension. He was started on an ACEI. The best way to monitor his renal function:-

a) serum creatinine

b) 24 hour urine collection

c) nuclear medicine scan

d) renal biopsy

Stage IIIa NSCLC.Primary lesion in the bronchus with  mediastinal involvement 

? pulmonary nodule 3 cm away from the carina. Best management :-

a) palliative

b) chemotherapy

c) radiotherapy

d) chemotherapy then surgery

e) chemotherapy,radiotherapy then surgery

A woman with a longstanding history of rheumatoid arthritis,for the past 5 year shas been stable on MTX 7.5 mg weekly,prednisolone 7.5 mg daily,ketoprofen and folic acid weekly.The patient is well with minimal joint stiffness (morning)  esr  40’s

crp 40’s.Initial and current xrays shown-no change in erosions

the best management is:-

a) decrease MTX

b) start leflunomide

c) stop MTX and switch to cyclosporin

d) decrease prednisolone to 5 mg per day

e) increase MTX dose to 10 mg weekly

What is the relative contraindication to raloxifene?

a) hypertension

b) family history of breast cancer

c) hypercholesterolaemia

d) hot flushes

What is the most common cause of impotence in a 78 year old man?

a) neurogenic

b) vascular

c) psychological

d) hormonal

Takayasu’s arteritis is likely to involve :-

a) abdominal aorta

b) coeliac axis

c) coronary arteries

d) renal arteries

A 32 year old   woman who is 37 weeks pregnant has been exposed to chicken pox and presents within 24 hours.There is no prior history of chicken pox or vaccination for it.The best management is :-

a) varicella vaccine

b) varicella immunoglobulin

c) observe

d) check serology

An ultrasound through the mitral outlet is shown

the most likely diagnosis is :-

a) pulmonary hypertension

b) AS

c) MR

d) AR

e) MS

A man presents  with a  papulosquamous rash 1- 2 cm each, seen diffusely around the entire trunk.His RPR is positive and his TPHA is also positive,The best treatment for this man is :-

a) benzylpenicillin 1.8 MU IV qid for 10 days

b) benzylpenicillin 2.4 MU IM as a single dose

c) doxyxycline 100 mg bd for 14 days

d) ceftriaxone 250 mg IM daily for 5 days

e) benzathinepenicillin 2.4 MU IM weekly for 3 doses

A male with a history of arrhythmia and heart disease.Medications include amiodarone,B blocker,aspirin and simvastatin.He presents with exertional dyspnoea.

His Dlco is 50 percent predicted

The most likely cause of the symptoms :-

a) pulmonary oedema

b) amiodarone toxicity

c) idiopathic pulm fibrosis

d) atypical pneumonia

e) TB

A 68 year old woman presents with lethargy and easy bruising.Examination reveals –ophthalmoscopy shows retinal haemorrhages with dilated retinal veins

· EPG showns elevated IgM (60 g/l)

· Blood film shows rouleaux and microcytosis

· Hb 107,WCC 1.7 N 0.7,l 0.7,m 0.1,e 0.0

· plt 70

The best treatment for this patient is :-

a) melphalan and prednisolone

b) high dose cyclophosphamide

c) plasma exchange

d) IVIg

e) heparin and warfarinisation

A 35 year old man with abnormal LFT’s:- FBC normal,LFT’s all raised,ferritin >2000,Fe >300 and transferrin normal. What is the most appropriate next investigation?

a) hepatitis serology

b) haemolysis screen

c) HFE gene testing

d) Alpha 1 anti trypsin levels

e) ?

A 47 year old male presents with focal neurological signs.CD4 count is 10.Serology:-

-CMV IgG pos,IgM neg

-Toxo IgG neg,IgM neg

-EBV IgGn pos,IgM neg

CSF cells –mononuclear,EBV positive on PCR-10000 copies

CT scan showing 2 ring enhancing lesions,one central and one peripheral either side of the midline.

What is the most likely diagnosis?

a) toxoplasmosis

b) primary cerebral lymphoma

c) progressive multifocal leucoencephalopathy

d) cerebral abscess

e) EBV

What is the most common finding in Behcets disease?

a) oral ulceration

b) genital ulceration

c) arthralgia

d) pathergy

e) acute uveitis

The best description of naltrexone in opiate dependence :-

a) reduces pleasurable effects of opiates

b) stops withdrawal symptoms

c) ?

d) reduces cravings

e) causes unpleasant effects when opiates are taken

55 year old man with recurrent calcium oxalate stones has required lithotripsy and surgery a few times in the past few years.Serum calcium,uric acid,PTH and creatinine are normal.Urinary calcium and uric acid excretion are increased.

Which of the following is the least likely to reduce incidence of further stones?

a) dietary calcium restriction

b) alkalinisation of urine

c) thiazide diuretic

d) allopurinol

e) increased daily fluid intake

A 62 year old man complains lethargy over the last few months and now has weight loss,night sweats and easy bruising.O/E 12 cm spleen,bruises,petechiae,no lymphadenopathy.Hb  81,WCC  3.4,plt 70 ,MCV  100,occasional myelocytes and nucleated RBCs,coags normal,LDH  525 and uric acid 0.60.Blood film shows poikilocytes,pencil cells and one nucleated RBC and one myelocyte.

The likely diagnosis is:-

a) metastatic carcinoma

b) CML

c) Primary myelofibrosis

d) SLE

e) ? lymphoma

A 38 year old female has progressive dyspnoea over the past few weeks.She also notices muscle weakness.O/E  proximal muscle weakness,hyperkeratotic scaling rashon palmar and lateral surfaces of the fingers.CK 850,ANA 1:2560 speckled.ENAs : anti Jo 1 postive,anti DNA negative.HRCT shows interstitial infiltrate.? Cause:-

a) dermatomyositis

b) SLE

c) Polymyositis

d) Progressive systemic sclerosis

e) ?

A 50 year old female with a midline neck lump.Ultrasound shows a solid mass in the right lobe of the thyroid.Radionuclide scan shows the nodule is cold.TFT’s normal.FNAB shows follicular cells.The next best step is :-

a) repeat FNAB

b) drill biopsy of the nodule

c) right lobe thyroidectomy

d) check thyroglobulin level

e) total thyroidectomy

Discussion about the number needed to treat ie the number needed to treat to avoid one adverse outcome.A trial of asthma management self treatment plan was found to have a 50 percent benefit.20 percent of the non-treatment group had a hospital admission,whilst 10 percent of the treatment group had an admission.What is the number needed to treat?

a) 2

b) 5

c) 10

d) 20

e) 50

Bernouli equation is used to estimate gradients using velocity of blood flow in Doppler echo,in tricuspid incompetence.The equation is :   P = 4V  .

What is the right ventricular peak  pressure +/- 2 mmHg if the doppler peak velocity is 4m/s(given a right atrial pressure estimate of 5 mmHg).

a) 50

b) 55

c) 60

d) 65

e) 70

A 30 year old woman presents with pallor,bruising,pallor and  petechiae.She is afebrile and is noted to have a mild degree of splenomegaly.Hb 80,WCC  27,plt  22,APTT 45,PT  19,FDP  2.00 (N< o.25),fibrinogen 1.2 g/L (1.8-4).Blood film show Auer rods.Which is the most appropriate initial treatment?

a) arsenic trioxide

b) all trans retinoic acid

c) allogenic stem cell transplant

d) cytarabine

e) daunorubicin

Which of the following would not be expected to improve in a patient with Alzheimers disease treated with Donepezil?

a) memory

b) social interactions

c) visio- spacial functions

d) delusions

e) ?

A 45 year old female presents with back pain with no history of trauma.Xray reveals multiple crush fractures of the vertebrae.DEXA is T – 4 in the spine and T-2 in the hip.Normal plasma electrophoresis,calcium and EUC.What is the most appropriate investigation to do next?

a) vertebral biopsy

b) bone scan

c) CT scan

d) Urinary EPG

e) Mammogram

A young man with aplastic anaemia.,pancytopoenia,bloody tap from marrow.Showed a bone trephine biopsy picture.best treatment to survive is?

a) allogenic stem cell transplant from HLA matched sibling

b) G csf

c) Oxymetholone

d) High dose cyclophosphamide

e) Autologous BMT

A young patient 10 days post transplant for AML develops right upper quadrant pain.LFT’s show high bilirubin,high transaminases,lower but still elevated GGT and ALP.Ultrasound showsa large liver ,ascites,normal spleen.Cause?

a) GVHD

b) Venous occlusive disease

c) Portal venous thrombosis

d) CMV hepatitis

e) Hepatosplenic candidiasis

ECG shows an inferior infarct,patient given streptokinase but chest pain remains  severe after 30 mins and ECG unchanged (ie no evidence of reperfusion).What to do next for best long term survival?

a) stent

b) TPA

c) Platelet inhibitor eg GP 2b3a

d) Fluid and inotrope

e) Aortic pump

In which condition is FFP the preferred fluid replacement after a patient has had plasmapheresis?

a) GBS

b) Myasthenia gravis

c) TTP

d) CIDP

e) Waldenstroms macroglobulinaemia

A young female with metastatic breast cancer presents with neurological signs of SC compression.Given an MRI showing a soft tissue mass compressing the cord .She was subsequently started on dexamethasone.The next most appropriate management option is :-

a) surgical decompression

b) radiotherapy

c) high dose methylprednisone

d) chemotherapy

e) oestrogen

MRI of the brain shows a ring enhancing lesion of a ?HIV patient .The appropriate treatment is :-

a) ceftriaxone,metronidazole,penicillin

b) ceft,metro,acycolvir

c) ceft,netro,vancomycin

d) ceft,metro,rifampicin

e) vancomycin and rifampicin

A haematogy patient with a Hickmans cather was neutropaenic and has now recovered.Repeated cultures wth Candida in blood despite being on Amphoteracin.The next  most appropriate management is :-

a) increase or restart GCSF

b) CT to look for hepatosplenic candida

c) Remove the Hickmans catheter

d) ?

e) ?

Repeat question on cryptogenic fibrosing alveolitis with CXR given and respiratory function tests-restrictive,low DLCO etc

Repeat question on cancer screening,how best to judge the effectiveness of population screening………

Repeat question about an elderly male with myeloma and blurred vision.fundoscopy shows retinal venodistension and haemorrhage,IgG  kappa of 60 g/L.Treatement 

a) dialysis

b) melphalan and prednisone

c) plasma exchange

d) platelet exchange

e) ?

Bone scan showing hot spots of both tibias,shoulders and spine – ie Pagets dd metastatic carcinoma,myeloma etc

a) A young man smokes and drinks about 140 g per week.he presents with nausea and one large haematemesis.Denies dizzyness.Stable haemodynam                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                nal Qu’s  FRACP 2002

1. Which among the following is the least likely finding in the immune response to bee venom therapy?

a) increase in IL-10

b) increase in TH1 helper cytokines (such as IL12 and IFN-a)

c) decrease in TH2 helper cytokines

d) producing of Ig antibodies

2. Mechanism of vancomycin resistance:

a) alteration of enterrococcal binding proteins

b) production of B-lactamase

c) alteration of penicillin-binding proteins

d) increase in vancomycin breakdown

3. Informed consent is based on which principle?

a) non-maleficence

b) autonomy

c) beneficience

d) justice

4. 40 y/o obese Fijian man has a background of peptic ulcer disease treated with a PPI tow years ago.  He now presents with generalized abdominal pain and distention and vomiting.  AXR shows generalized.  Haziness (?fluid), stomach bubble present + 1 small air-fluid level adjacent to it; no air under diaphragm or in rectum.  Diagnosis?

a) gastric outlet obstruction

b) gastric volvulus

c) small bowel obstruction

d) perforated PUD

e) large bowel obstruction

5. 52 y/o man presents with palpitations, nausea, diaphoresis, and chest pain.  ECG shows VT.  Best Tx?

a) flecainide 

b) sotalol

c) lignocaine

d) verapamil

e) amiodarone

6. A couple presents for genetic counselling, each with a background of thallasemia.  Which combination offers the best prognosis?

Male


Female


a)
alpha 0

beta 0


b)
alpha 0

alpha 0


c)
beta 0


beta 0


d)
beta 0


HbE


e)
alpha 0

alpha +

Paper 1

Remembered  questions (1 – 6)

1.
Man in his twenties presents for follow-up of cardiac lesion.  Had?  VSD repair as a child


Asked to interpret ECG



RVH

RBBB

AXIS


a)
N (?)

N

+ 140


b)
Y

Y

+ 240


c)
Y (?)

Y

+ 140


d)
(?)

N

+ 240


e)
(?)

Y

+ 140


ECG similar to this only the complexes were down in lead I.



(GRAPH PICTURE)7

2. Which of the following is most likely to cause defect in protein production?

a) transversion mutation 

b) splicing defect

c) missense mutation

d) non-sense mutation

e) three base pair deletion


(



(

e)
(



(
3. Type II diabetic with recurrent hypoglycemic episodes.  The most likely values in the setting of insulinoma?

Serum Glucose
Serum Insulin 
C-peptide 
Sulphonamide screen

a)
3.5

3


Normal ? 500

neg

b)
2.5 (?)

18


800


neg

c)
2.0

18


Low (?) 200

neg

d)
2.0

18


800


neg

e)
2.0

3


Low ? 200

pos

4. Repeat

5. ??

?
aldosterone question

9.

Paper 2

86-93

1.
O

2. Hematemesis

Young man 20s

140g ETOH

smokes 5 cigs per day

Nausea then large vol hematmesis

MW tear

GU

DU

Variceal bleed


3.
Major cause of suicide in daviacvre 

Major Depression

Uncontrolled pain

Cerebral mets

5. 
G

6. Prostate cancer – bone scan (repeat)

Riddled both arms ribs axial skeleton




Androgen blockade




Radiotherapy

7. Cancer screening – breast (repeat)

8. Bone scan

Paget’s 

Myeloma

Prostate cancer



Others:

· Ring enhancing brain lesions – choice of antibiotics

· Most likely in Bechets syndrome

· Small cell ca question – small lesion

· Non small cell lung ca question

IIIa with  ? mediastinal involvement and lesion >3cm from origin main Bronchus

· Haemachromatosis X-ray with involvement of 2nd and 3rd MCPs and evidence of chondrocalcinosis

· Help B chronic carriage 

· 3 or four genetics questions (CF)

13. In a trial comparing best self care management vs standard management of asthma, there was a 50% reduction in admissions in the best self care group with 5% of people in the treatment and 10% of the control group being admitted to hospital.  The number needed to treat is:

a) 1

b) 2

c) 5

d) 20

e) 50

Similar question to the following only showed lateral spine X-ray with T8 or 9 fracture and another above.  Bones osteopenic.

14. A 50 y.o woman developed back pain while carrying a bucket of water.  X-ray of spine shown- Crush # vertebrae.  Her BMD has a T score of –4. Serum EPG is normal.  What is the next best investigation?

a) FSH/LH

b) Bone turnover markers

c) Urine EPG

d) CT spine

e) Bone biopsy

SAMPLE QUESTION:

1. Patient with temporal arteritis.  On XR thoracic wedge compression fracture

What is the treatment of choice:

a) Prednisone 40mg daily and alendronate 10 mg daily

b) Prednisone 10 mg daily & Azathioprine  100mg daily

2. What is the main cause of impotence?

a) vascular

b) Neurogenic

c) Psychological

d) Hormal

3. What is the main role of naltrexone

4. What is the main manifestation of Behcets disease

a) Oral ulcers

b) Genital ulcers

c) Anterior uveitis

d) Positive pathergy tests

5. Long question re hopefully Wegners 

Option included precipitants for Asper gillus

6. What is the main reason for suicidal ideation in cancer aptientd

a) depression

b) Sever pain

c) Poor family supports

d) Previous psychiatric history

7. Question on mechanism of resistance to Vancomycion

a) Reduced entry into cell

b) Alteration of Penicillin binding proteins

c) Beta lactamase production

8. Question for patient previously treate for pepetic ulcer disease 8 weeks earlier

Showed axr:  GAS UNDER DIAPHRAM.  Lot of faecal content in stomach region & elsewhere

Options:

a) Ruptured gastric ulcer

b) Diabetic gastroparesis

c) Small bowel obstruction

9. Cerebral CT scan: 2 separate lesions:

a) Toxo IgG & IgM:  Negative

b) CMV: IgV pos & IgM: Neg

c) EBV : IgG pos & IgM: Neg

  
I can’t remember the viral load given


Options:

a) Cerebral lymphoma

b) Cerbral toxoplasmosis

c) Others??

10. Question on ECG: Need to work out axis, if RBBB, if RVH

11. Question on syphilis – rash, & RPR & TPHA pos

12. Which cell acts via its products being selected, rather than in the cell?

a) Eosinophils

b) Natural killer cells

c) Macrophages

d) Neutrophils

e) ?? other

13. Which is not involved in the mechanism of action of Langerhan cells

a) Upregulation of MHC Class 1 expression

b) Upregulation of MHC Class 2 expression

c) Going across to lymph node to present antigen

d) ?? Others

14. Which is most predictive regarding the need for institutionalisation?

a) Six minute walk distance

b) Maximum gait speed

c) Heel shin walking speed

d) Habitual gait speed

e) Chair – sit times multiple times

15. Question on what best maintains remission in Crohns disease

a) Azathiprine

b) Methotrexate

c) Metronidazole

d) Salicyltes

16. Male with multiple periods of sleep apnoea: 80/hr 

He is most at risk of death from?

a) AMI

b) Stroke

c) Motor Vehicle accident

d) Hypertension

17. Waldenstoms question with high IGM kappa level: 60

How do you treat?

18. Patient hypertensive BP 180/110

Is on budesonide 400 mcg daily

Baseline 120

Result after  ? 30 mins: 550 (Synacthen test)

a) primary hypoaldosteronism

b) secondary aldosteronism

c) Normal axis

d) Normal basal axis but reduced resp to stress

e) Impaired resp due to steroids

19. Patient febile 38.8

LFTS normal except for bilirubin of 78


WCC 18.8 Erythromycin started within 48 hours for chest infestion


? Cause

a. Gilberts syndrome

b. Erythromycin

20. Long winded question:

Chinese male

Alb 35

Bili 28

Ferritin: 2600

Serum iron : 240

AST & ALT both about 140


What is the next best blood test to do?

a) Autoimmune serology

b) Hepatitis serology

c) Haemochromatosis gene analysis

21. Question on exercise stress test VO2 max- what is the main thing causing it to decrease in the healthy elderly:

a) reduction in stroke volume

b) decrease in heart rate

c) Decrease in TLC

Can’t recall others

22. PH 7.46 PO2 50 POC2 29.  Occurring within 2 hours after urgent caesarian section (reason why not given ) XR: Bibasal infitrates.  Previously respiratory assessment OK.

What is the best management?

a) Iv corticosteroids

b) Iv Heparin

c) Broad spectrum antibioitics

d) ?? Others

23. Histiparesis curve: weird looking elliptical curve

24. In regards to leukodepletion – what does it reduce the risk of:

a) CMV

b) Hep C

c) Malaria

d) Anaphylaxis

25. Male with history of mild angina.  Been on Imdur 60  mg daily, aspirin & Metoprolol 

50 mg daily.  Admitted with 30 minutes unrelieved chest pain following unaccostmed exercise via 3 anginine.

?Cause

a) Tolerance to nitrate

b)  Dry mouth

c) ?? Other

26. Intention to treat- what bias

27. What is the main mechanism of preeclampsia

a) Uteroplacental hypoperfusion

b) Maternal hypovolaemia

?? 
Others

28. Patient oliguric renal failure.  What is the most improvement from a renal view point.

a) Intermittent frusemide

b) Low renal dose dopamine

c) Continuous frusemide infusion

d) Adrenaline infusion

e) Prostacyclin infusion

29. Mitral stenosis.  Many figures for cardiac output, mean capially wedge pressure, pulmonary vascular resistance, cardiac output etc.  Which carries the worst prognosis?

30. Pituitary adenoma removed.  On thyroxine replacement, hydrocortisone 20 mg daily, esttrogen, etc.  Doses given-was done 5 years earlier.  Wt gain.  Normal physical examination apart from some truncal obesity.  Patient also on Fluxetine 20 mg daily.  What is the cause

a) Under/ over replacement treatment

b) Fluoxetine

31. Prolactin level 1900

On amitrypline for depression

?  Causes:

a) Amitryptilinwe 

b) Deppresion

c) Non functional pituitary adenoma

d) Pituitary  microadenoma

32. What made patient go either to tuberculosis leprosy or lepratomatous leprosy

a) Immune complex formation

b) CMI

c) ??Others

33. Patient on SC morphine, Equivalent to 96 mg over 24 hours.  What is the dose as oral slow release

a) 25 mg bd

b) 50 mg bd

c) 100 mg bd

d) 200 mg bd

e) 300 mg bd

34. Question patient with RhA-still progressing – on mewthotrex 7.5 mg week, Pred 5mg/ week… What is best option

a) Increase MTX

b) Add lefluonimde

c) :?? Others

35. Another question related to Southern blotting – what are the order of steps involved

36. What does the DNA polymearse in the PCR reaction actually do?

a) Separates the strands of DNA – can’t recall other options

37. Ank spon.  Which part of the spine is most involved ?

a) Cervical spine

b) Thoraco- lumbar spine

c) Lumber apine

d) :?? Others

38. Question on definitive diagnosis of polycythemia rubra vera:

a) Red cell mass

b) Low serum erthropoeitin

c) ?? Others

39. Na 117

K 3.5 Cr 70 BS 10.0

Cl 85

Urine sodium : 100

Urine osmolality 520

HCO3: 30

What is the  most likely diagnosis

a) Diuretic use

b) SIADH

c) Hypothyroidism

d) Renal tubular acidosis

e) Glucose

40. Left parietal lobe haemorrhage.  Most common cause?

a) Amyloid angiopathy

b) Hypertension

c) AV malformation

41. HIV – On multiple HIV drugs.  Renal colic 

?Indinavir

42. Which is least likely to help delirium

a) Improve eyesight 

b) Improve hearing

c) Sleep program

d) Benzodiazepine treatment

43. Which operation is most associated with delirium

a) Post op fractured hip

b) TURP in association with GA

c) CABG surgery

44. Bone scan shown

a) Pagets

b) Metastatic disease

45. Renal transplant patient Cr from 100 to 180- Next best investigation.  Normal physical examination :

a) Renal US

b) Renal US

46. Central line- Blood cultures from it and peripheral blood growing Candida albicans Remaining febrile.  Same blood culture results.  Best treatment:

a) Remove the central line

b) Change amphotericin to liposomal amphotericin

c) ?? Others

47. Diabetic patient with 3rd nerve palsy sparing the pupil.

48. Young male pancytopaenic.  Dry tap-?  Aplastic anaemia

What is the best treatment option:

a) Allogenisc stem cell transplant

b) ATG

49. Young male with single episode vomiting with some fresh blood.  Otherwise Ok except for some epigastric tenderness.. Haemodynamically v good risk parameters.  Nil risk factors – Causes:

a) MW tear

b) Variceal bleed

c) Acute gastritis

d) ?? Others

50. 2 questions on lung cancer – Small cell & non cell- mass 3 cm from carina

51. Question on purpose of use of RTx post removal of breast cancer.  Lymph node negative :

a) improve survival

b) reduce local reccurrence

c) ?? others

52. 45 year old female with solitary cold right thyroid nodule- on biopsy follicular cells?  next best management:

a) Right thyroid lobectomy

b) Total thyroidectomy

c) Drill biopsy

53. Patient with recurrent calcium oxolate stones

54. Least effective in preventing fractures

55. Question showing ECG – echo over mitral outflow tract- showed like rhomboid with another triangle.

56. Patient with tricuspid regurg-pak velocity 4, mean 3.5 ms.  RA pressure 5mm Hg.  What is the RV pressure:

57. Question on mutation GTCCAGetc- 2 triplet base bairs – what is the most likely result

a) Benign polymorphism

b) Depends on the situation in which it occurs

58. CT- portal vein thrombosis, veno occlussive disease, hepatosplenic candidiasis person develop lower limb ascites, peripheral oedema.

59. CIn to raloxifene

a) fhx breast cancer

b) hot flushes

c) hypertension

60. What do you do if you have measles contact

a) Observe

b) Live attenuated

61. What do you do for pregnant woman who has chickenpox contact- lady about 32 weeks pregnant 

a) Observe

b) Hzv ig

62. What is the most sensitive test for detecting gallstones?

a) Ct

b) Ultrasound

c) HIDA scan

d) ? others

Raised ESR 55.Sl netophil lymphocytosis on amiodarone XR: Bibasal infiltrates reduced DLCO.

a) Amiodarone related toxicity

b) Cryptogenic fibroising alveoltis

63. What is the lifetime risk of reoccurrence of major depression:

a) <1%

b) 5%

c) 25%

d) 50%

e) 90%

64. Jo 1 antibody positive.  Interstial lung disease.  What is the cause :

a) polymositis,

b) dermatomyositis

65. )

66. Most common cause of cardiac rejection after 6 months transplant?

67. Xr hand-people thought oa in re to right hand xr involving 2nd mc and wrist not haemochrom

68. Question young girl diabetic, acanthocytosisn nigricans- 3 others in immed family diabetic.  She had ketones in urine:

Option Idiopathic type 2 diabetes

Iddm with glucokinase receptor mutation ?? others

69. 50 year old female smoker diabetic hypertension.  Coming in with 1 hour chest pain.  2nd ECG of inf infarct still pain and persistent ecg changes with lateral extension: ?? option

a) give fluids & inotrope

b) intra aortic balloon

c) give streptokinase

d) give tpa

e) ptca

70. Patient with Parkinsons disease- on off effect- best way to treat it?

a) Increase dose of 1- dopa

b) Increase freq of 1- dopa dosing

c) Adding a COMT inhibiotr

d) Adding a L Dopa agonist

e) ?? Others

71. Osteoarthritis.  What is the highest risk?

a) Obesity

b) Trauma to mibble/lower limb in adolescence

72. Patient with St Judes valve.  Going O.K. for 5 years.  On warfarin- INR 1.9 (ther 2.0-3.0).  Into pulmonary oedema.  Mv area 2 cm2- part of valve not moving – Normal size heart on chest Xray.  Options for immediate management

a) Increase the dose of warfarin

b) Immediate valve replacement 

c) Antiplatelet therapy

d) Antibiotics

(related to clot?)

73. Repeat questions on best indicator of worse prognosis for hepatitis C.

74. Patient with mediastinal mass- which marker confers the best prognosis?

a) Beta HCG

b) CEA

c) Ca 15-3

d) Ca 125

e) ?? other

75. Lady with stage 3 ovarian cancer.  Becomes sl. Ataxic, confused- cerebral CT some atrophy.  LP 10 lymphcytes/ mm3

What is the next best investigation?

a) Anti Yo- Purkinge cell antibody

b) Repeat the LP

c) Cerebral MRI

76. Lady with breast cancer- Onto dexa 16 mg- Has some weakness – MRI shown- we chose RTX

77. Elderly lady.  CLL – slightly low Hb.  Low Ig G recurrent chest infection?  Best management 

a) of CLL

b) IgG

78. In regards to plasmapharesis when is FFP used as replacement fluid?

a) Waldenstroms macroglob

b) TTP

c) Myaesthenia gravis

d) Guillan Bare syndrome

e) Other??

79. ECG showing ischaemic leads- can’t recall which ones.  What is the best treatment?

a) STK

b) Tpa

c) Iv heparin & BB

d) Iv heparin & tirofibran & bb

80. What is the main cause / risk for variceal bleed?

a) Portal venous P

b) Child Pughs score

81. Diabetic patient.  BP 120/80.  HbA 1c:7.8.  Mild retinopathy changes 

What is the beast means to prevent diabetic retinopathy?

a) Improve glucose control

b) Laser photocoagulation

c) ACEI

1. Where can you find both CD4 and CD 8 in a normal person?

a) Spleen

b) Thymus

c) Lymph node

d) ?

e) ?

2. The pathological findings in Tuberculoid leprosy versus lepramatous leprosy?

a. cell mediated

b. complement

c. complex mediated

d. NK cells

e. ?

3. NYHA III dyspnoea and MS.  What of the following has the poorest outcome?

Cardiac output

RA pressure
PA pressure
PCWP 
Woods Unit 
Puly VR

a.
?

?

35

?

?
?

b.
?

?

23

?

?
?

c.
?

70/2

40

?

?
2

d.
?

?

35

?

?
?

e.
?

68/8

35

?

?
4

4. Phase I Trial for cytotoxi –  Aim?

a. Reassure patient that there is still hope

b. ?

c. Increase in survival

d. Comparison

e. Dose findings

5. Oliguria second to hypertension second to sepsis, treat with?

a. Intermittent lasix

b. Lasix infusion

c. Prostacyclin infusion

d. Renal dose dopamine

e. Adrenaline infusion

6. Girl investigated for increased Ca++ .  Asymptomatic, Mother had parathyroidectomy for high Ca++.  Best Ix?

a. Parathyroidectomy

b. Scan

c. 24 hour urine excretion

d. ?

e. ?

7. The most sensitive test for gallstones?

a. U/S

b. CT

c. MRI

d. Plain XR

e. HIDA scan

***********

PHARMACOLOGY QUESTIONS  R.A.C.P. 2002 (reconstructed paper)

1. Repeat question on beta-lactam treatment ie important 

pharmacodynamics,mic,drug concentrations etc

2. A clinically significant interaction with St Johns Wort occurs with –

a) cyclosporin

b) desipramine

c) cimetidine

d) digoxin

e) diltiazem

3.  Cyclosporine nephrotoxicity is least associated with?

a) Glomerulopathy ( other options not recalled)

4.  Warfarin has a low extraction ratio in reference to hepatic metabolism.  The most likely effect of adding erythromycin (which increases the P450 metabolism of warfarin is?

First pass metabolism 
Dose requirment


a
)
-



(



b)
-



-


c)
(



-

           d   

e

5.Question on erythromycin effect on warfarin in regards to oral bioavailability & clearance 

Note: Tell us that drug has high oral bioavailability to start with

6.Question on why Gentamicin causes renal toxicity

a) Tubular atrophy

b) Proximal tubular damage

7.With which drug does St Johns wart interact

a) CsA

b) Metformin

c) Digoxin

d) Cimetidine

8.OC Pill- what reduces its efficacy

a) Rifampicin

b) Cefepime

c) Chloramphenicol

9.Patient in ICU- v subtherpaeutic phenyton level- on TPN feeds, flagyl or erthro 

? Reasons

a) TPN feeding

b) Hyperventilation

c) Antibiotic

10. Question regarding elimination half life of lignocaine – why is it eliminated faster than it should be:

a) Induces its own metabolism

b) Taken up by adipose tissue

11.Curve on 5 year survival comparing 2 drugs- ? median survival & ? which has a better long term survival:

12.Patient put on 2mg haloperidol nocte.  Becomes very restless- walking around the wards everywhere.  What is the cause?

a) Akathsia

b) Restless legs syndrome

c) ?? Others

13.Question on clearance:  which is the slowest – means lower number

14.
Fitter loaded with 1 g of phenytoin then oral 300mg/day.  How long before steady state achieved?   ½ life 30 hours.

a. Immediate

b. One day

c. 3 days

d. 1 week

e. 12 days

15. What is the reason for the following graph?

a) decrease absorption from the GIT

b) active drug with an inactive metabolite

c) drug binds irreversibly to the receptor

d) drug receptor is down regulated

e) there is a delay of the drug reaching its receptor from the plasma

    NEUROLOGY QUESTIONS R.A.C.P. 2002 ( reconstructed paper)

 1. Repeat question on female with a haemorrhagic stroke…answer amyloid angiopathy

2.   The least likely finding in  CJD ?:-

a) visual field defect

b) cognitive impairment

c) myoclonus

d) cerebellar ataxia

e) areflexia

3. A 25 year old man presents with right foot drop 48 hours after laying tiles.Where is the most likely sight of the lesion?

a) right sciatic nerve palsy

b) peroneal nerve palsy

c) L4/L5 root lesion

d) peripheral motor neuropathy

e) lumbosacral plexus lesion

4. A patient with long term stable history of epilepsy on treatment.An ophthalmological examination shows a visual field defect.The most  likely antiepileptic drug being used?

a) carbamazepine

b) sodium valproate

c) pheytoin

d) gabapentin

e) vigabatrin

5. A patient has undergone surgery for an acoustic neuroma, the mutant gene is believed  to

be NF2.Testing of the Southern blot of the NF2 gene showed (with normal as the baseline) :-

                                            Normal                     Blood                 Tumour

decreasing                           ___                           ___                        ___

fragment 

size                                                                        ___                        ___

V                                           ___                           ___

                                              ___                           ___                        

                                                                                                             ___
Which of the following describes the southern blot findings?

a) loss of the mutant NF2 gene in blood

b) loss of the mutant NF 2 gene in tumour

c) loss of the normal NF 2 gene in blood

e)loss of the mormal NF2 gene in tumour

6. Which feature is more suggestive of inclusion body myositis rather than polymyositis?

a) quadriceps wasting

b) deltoid wasting

c) wasting of the long forearm flexors

d) truncal weakness

e) bilateral ptosis

7. 60 y/o man presents with a sudden onset of right foot drop and numbness on the medial aspect of the dorsum of the right foot.  Knee and ankle jerk are intact.  What is the most likely etiology?

a) L4-5 spondylolisthesis

b) L4-5 disc prolapse

c) L5-S1 canal stenosis

d) Osteophytes at L4-5 junction

8. Which antiepileptic has been implicated in visual field defects:

a) vigabatrin

b) topiramate

c) valproic acid

d) ethosuximide

9..
Head scan (non-contrast) Enhancing




GBM




Astrocytoma




Meningioma




Oligodendroglioma

9. Question on CJD disease.  What are you least likely to find?

a) Areflexia

b) Myoclonus

c) Cognitive decline

d) Visual field defects

e) ?? Other

10. Patient with right foot drop.  Squatting few days previously – develops right foot drop.  Causes??

11. Patient had heavy weight fall on his foot.  Initial recovery then period later cool, sweaty, burning pain- exquisitely painful to touch.  Preserved ankle reflex, restricted ankle movement.  Which test would you do:

a) NCS 

b) Doppler vascular studies

c) ?? Others

12. How do you best clinically differentiate inclusion body myositis from polymyositis.  Options included :

a) Bilateral ptosis

b) Weakness of long flexors

c) Quadriceps weakness

d) Deltoid weakness

13. Ongoing symptoms of de ja vu in young patient.  Not acutely unwell.  EEG shown  ?  Spikes in right temporal lobe

Options :

a) TLE due to temporal lobe cavernoma

b) TLE due to acute abscess

c) Not epilepsy

14.     Cerebral CT: Brain abscess:  What is the treatment (patient with 3 days history of fever, headache)

15. Patient with CRF – Cr 150.  Put onto pethidinie.  Develops ? tonic clonic jerks- then a grand mal seizure .  The most likely cause is:

a) Pethidine metabolites

b) Stroke

16. patient has neurological symptoms in the lower limbs

a) Disc prolapse at 14/15

b) Spondylosis at level

c) ? Other
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